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01 AFR2t2/HI 12,375 12,195 180
OSYZ2Z0IAY 2Bt 2|
12,375,0008 * 14! 12,375
= 12,375
202 OfH| 10,125 10,800 ABT5
= 10,125
01 2UH0i| 10,125 10,800 AB75




SN FE0IMEX D

=
HE: HASE MBI
04

Sl Q202 2YNA(SEEN)(ARSHIIZ2Y) (el &2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 O] Ak 4 Sl ko HRE2
OodZ=¢AtE WALl 10,125,000& 14 10,125
= 10,125
Slg=0dzH ZHIRES 639,710 448,540 191,170
308 XXIEHHSOIH 639,710 448,540 191,170
08 JIEFRE2 639,710 448,540 191,170
CEEENEELR- !
639,710,000& * 14 639,710
ol gl bl 6,600 6,600 0
801 aildldl 6,600 6,600 0
01 oilgldl 6,600 6,600 0
ool bl 6,600,008 * 14! 6,600
MASTOUMUEE(SE)(MASTUMENFIIS) 141,694 141,694 0
MASE FoM2td X3 141,694 141,694 0
201 LBt A 1,254 1,254 0
01 At 2l 1,254 1,254 0
OMEOEIIZ T2 SN+
1,254,000& * 14 1,254
202 O4Hl 1,860 1,860 0
01 =UhoiHl 1,860 1,860 0
OMHOFIIZ REX Ot
20,000& = 3¢! » 31 1,860
501 X3 138,580 138,580 0
01 2ItEX=3 138,580 138,580 0
OMEBOIHIIZ SN2 138,580,0008 * 14 138, 580
FOMESTAMEIA M Y DB 25 2,757,612 2,076,912 680,700
= 1,899,792
= 45,728
& 350,437
= 461,655
ZoHel =X K& 2tel 1,670,757 1,624,695 46,062
= 1,073,535
= 45,728
& 247,155
= 304,339
o= 699,500 1,031,041 A 331,541
= 489,650
& 104,925
i 104,925
301 Et2a = 699,500 1,031,041 A 331,541
= 489,650
= 104,925
i 104,925
01 MIBIEE X =0l= 699,500 1,031,041 A 331,541
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ol FOjel =X KB B2 (eel: &
_ _ _ N E
SA - SR(E) - HRAY - BES 0 & 24 e HIRE
OFMf=g 42,653.65%0  1,2582 * 122 643,900
=2 450,730
= 96,585
z 96,585
OFNOISRY4Y 159,708 « 2901 « 128 55,600
= 33,920
= 8,340
= 8,340
MNASHO0Hol X & 49,324 48,899 425
=2 39,460
= 4,932
z 4,932
301 LptEaa 49,324 45,149 4,175
=2 39,460
= 4,932
T 4,932
01 AFBIEEE 453 49,324 45,149 4,175
Ol o2l 224,731 * 1862l 41,800
=2 33,440
= 4,180
2 4,180
OFML 27 2yl 36,3472 * 207¢! 7,524
= 6,020
= 752
T 752
ZOHOl ALSIZSXIR 254,932 254,932 0
= 178,452
= 33,240
T 33,240
307 12+0| A 254,932 254,932 0
=2 178,452
= 38,240
T 38,240
05 I2t9leta 254,932 254,932 0
O3 R0 S 2XAY
531,108 » 402! * 122 254,932
= 178,452
3 33,240
T 33,240
DO S = T | 330 330 0
= 165
= 83
T 82
301 YerE a3 330 330 0
= 165
= 83
= 82
01 AFBIEEE 453 330 330 0
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el ROjOl =X KRel (el a2
_ _ pSNE e
S HH - (BH) - MBAY - B2 O & 04 Sl aton Hms2
Qe S5 &EI 22,000& * 15¢! 330
= 165
= 83
2 82
SHEZOHQI=E JHZALS 45,600 45,600 0
= 22,800
= 11,400
i 11,400
402 212t XH=01A 45,600 0 45,600
= 22,800
& 11,400
i 11,400
01 QA XGEEXR 45,600 0 45,600
O=01& R0l =& HE At
3,800,000& * 127t 45,600
= 22,800
= 11,400
i 11,400
ZOHCI =X Xt X2 AL 12,112 12,112 0
= 6,056
= 3,028
= 3,028
101 1 bl 12,112 11,200 912
3 6,056
& 3,028
i 3,028
04 JIZtMZ22XSE+ 12,112 11,200 912
ORojel =X X2l N QA
216,285.71& = 8¢l » 7& 12,112
= 6,056
= 3,028
= 3,028
O X ATHE ALK 72,000 72,000 0
= 45,728
& 6,480
= 19,792
307 Q20| 72,000 72,000 0
= 45,728
& 6,480
2 19,792
02 QIZ+AAMEX 72,000 72,000 0
OO4l =g TE A& X
72,000,000& * 1042 72,000
= 45,728
= 6,480
= 19,792
ZOHI=RIHEHESROI XA 33,345 33,345 0
= 16,672
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SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
< 8,337
2 8,336
101 Q1248 33,345 33,345 0
=2 16,672
= 8,337
2 8,336
04 JARZRIIS LS 33,345 33,345 0
OOjQl FME T20| N
855,0002 * 39 * 13% 33,345
= 16,672
= 8,337
2 8,336
W EEE Sk 2,600 2,600 0
= 2,080
2 520
301 YerBAZ 2,600 2,600 0
= 2,080
2 520
01 At BZ X453 2,600 2,600 0
OBAMELSEIT D=2
96,296.22 * 2791 * 13| 2,600
= 2,080
2 520
BN AL BARISE LY 1,680 1,680 0
= 1,680
307 212+0IH 1,680 1,680 0
= 1,680
02 BIHFABE 1,680 1,680 0
OZOHY Mo HE BAK Sg 49
70,0008 * 201 * 128 1,680
= 1,680
ZOHQI=RIIZ 2 6,000 6,000 0
308 X+XIEHHIS O & 6,000 6,000 0
05 XHXICHHIZHR 3 6,000 6,000 0
OZHMASRIIZ AZ 52
6,000,008 * 14! 6,000
B OHQIALSI & 01 B S X2 27,252 30,220 A2,968
201 LBt 3| 2,032 2,220 A 188
01 AtR2elt] 2,082 2,220 188
Olersgyl] 1,150
OFOMHOIEE &HEIIY ZHISHE
70,0008 * 34 210
OFOHOIXIZ EXIMA 1,0002 * 9407H 940
SI=ET) 832
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301 Let2a= 1,900 0 1,900
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190
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M

02 EszQs2 1,900 0 1,900
PS

237,500 = 2021 » 43| 1,900
1,520
190
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M

0 2+ 5,000 0 5,000

307 GI12t0lH 5,000 0 5,000

01 A= =H 5,000 0 5,000
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O
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0
1
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254,100
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H W
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AW

01 A2 H+6= 363,000 0 363,000
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S EOIMETIR D
Ha: FOMBIAMNLIA WL L I 2=
ol FOIMBXRAEIA HLHH Sl (el @)
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
ZOIME XA A B 4 1,083,195 448,197 634,998
=2 826,257
= 103,282
2 153,656
ZOIMHIA ML HE AL ER 7,910 14,240 6,330
201 Ygreg| 7,910 14,240 6,330
01 AtRZ2lH] 7,910 9,240 A1,330
Olgs+gY] 7,280
OFOIMHIA BMLHHSHL ALY 222 HE
1,800,008 * 14! 1,800
OFUMEBXE MHIA 4l AR HE
20,0008 * 90% 1,800
OFQMHIA HMLHHSHL B8 SIS
B 70,0008 * 1044 700
OFQIMHIA HLHH 4 DFE OVORIE
20,0008 * 230H 460
0801 SEAHIA U27E 180,008 * 43 720
OFDIMHIA ML 4l S8 DS DX
I = 20,0008 * 90% 1,800
ol2&Hl] 630
OFDIMHIA MLHHHL ALET S|
7,002 * 39! * 59 « 62 630
KASl MEIA SAl Al X7 1,035,721 417,537 618, 184
=2 826,257
= 103,282
2 106, 182
201 Yer2g| 2,700 0 2,700
01 AtRZ2lt| 2,700 0 2,700
Olgs+gY] 2,700
OXIHABIHEIABAAY 222 2153 A
5 2,700,002 * 14! 2,700
202 01t 200 200 0
01 =Ly 0i ] 200 200 0
OXIASI Bl A SAAY REZ01Y|
20,0008 * 201 * 5 200
307 212H0I 1,032,821 417,337 615,484
2 826,257
= 103,262
2 103,282
05 DI2t9IEr2 1,032,821 417,337 615,484
OXAEl MEIA ST At
1,032,821,0008 * 1A 1,032,821
=2 826,257
= 103,282
2 103,282




SN FEOIMEX D
M ZOIMETRAMNEA A L Il S
Sl EOIMBRIRAHIA MEHH A (S5 &2)
_ _ _ N E
SN B SRA(SIH) - MBAY - BAS 0l &k 24 o HlnE2
201K HI A S ALY 6,040 6,720 680
201 Yer2 Y| 4,860 5,400 A540
01 ALR eIt 4,500 5,000 A500
Olgsr+2H] 4,500
OZDIMEAYIA QI RIE
2,008 * 1,350 2,700
OUR Yoz NEDM Y BES M
20,0008 * 458 900
OQIR, DIRIBos| ASE DT D M
20,0002 * 452 900
02 IZ2YH| 360 400 A4
OlBZTRILHAI] 360
OAMHIA S RIAZA SBE
20024 * 1,8000H 360
202 04t 280 320 A0
01 =2Uloibl 280 320 A0
OFUMUIATAEA L 23U Z 0|
140,008 + 23] 280
301 LBBA 900 1,000 A100
10 SBAAE 243 900 1,000 £100
OFUAHIA DB 2rE5|
450,008 * 13| 450
OFANYIA QIBIHF 213
450,008 * 13| 450
NHAEI =TS 222y 33,524 9,700 23,824
201 LByl 8,020 9,200 A1,180
01 At 2l 8,020 9,200 A1,180
SIEIIES=11T) 3,960
OYSAPXIASN NS 2T MA 22t
20,0002 * 1358 2,700
OYATNASNHE LY XS S7 2
Al 80,0008 * 23] 360
OXIeiAEl STEAM 2%
225,008 * 43| 900
oleg+g] 3,500
OXISiAEI =R EAME S BAT ALY
70,0002 * 109 * 53l 3,500
ol2ztl] 560
OMEISXIEAH HRFF S|
7,000 * 201 » 102 » 4% 560
207 HPIHLE 25,000 0 25,000
01 eiE Y| 25,000 0 25,000
ORIl NHAMSI =TS £ XAF=RS
2 XA 8 25,000,0002 * 14! 25,000




S ORI
M FOMBXAMNLIA HE L O8RS
Sl FOIMBRRALIA HLHH A (692
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
301 YBrEAZ 504 500 4
10 BAHAHI2 A2 504 500 4
OXSASI =X BolHl IRsl #aT S|
7,002 * 921 + 83l 504
WS L 0ITHEl 22l 3,660 4,020 A360
OITE 7S ¥ Foe 3,660 4,020 A360
301 YerBA3 90 1,000 A40
12 JIEt2 A S 960 1,000 A40
OBOIXH(S Q)R 01Hl 20,0008 + 239! 460
OBOIAFS T ZRIYI 500,0008 * 17 500
302 OIZEUTHAH 2 &3 2,700 3,020 £320
02 QI2bQITHEN 2 A3 2,700 3,020 A320
OMoh 7828 7Y 650,008 * 25 1,300
OMaH OITHEl S2 MEE 7Y
40,0008 * 3591 1,400
202 E oA X2 164,150 21,550 142,600
BELHSH 164,150 21,550 142,600
BECH X 15, 150 16,550 A1,400
301 YBrEAZ 3,650 4,150 500
01 At B X453 3,200 3,600 £400
ORVN|EZN Y BEINEALE X2
50,0002 * 162 * 43l 3,200
10 BAHAHI2 A2 450 550 A100
OS=220Y RIS HF 50,0008 « 99! 450
307 2120/ H 11,500 11,500 0
04 QIABALR E 11,500 11,500 0
06.255| 4K+ B H ALK
1,000,008 * 18l 1,000
Ol BEE &t XN 1,500,002 « 13l 1,500
OS22EY ZYUHAX S
4,000,008 * 13l 4,000
OBECHH S22 SAXR
833,333% * 6JH A 5,000
AHRTIXR 144,000 0 144,000
301 YBrBAZ 144,000 0 144,000
01 Al BE X253 144,000 0 144,000
OBHRB HHYU =Y
30,0002 * 75021 * 6% 135,000
OBFRBN A2
150,0008! * 109! * 62 9,000
3AE JIGBA X 5,000 5,000 0
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SNBSS - HRAY - BHES 0 & o4 o HIRZE2
307 2I2H0I 5,000 5,000 0
04 DIZIES AT 5,000 5,000 0
O3.1% JIZ&#A X2 5,000,0002! * 18l 5,000
Moo S5 7,501,913 5,494,844 2,007,069
3 350,000
| 1,068,560
2 6,083,353
MsAE 24 187,555 294,413 A 106,858
AUHSR, ZolsE 2y 123,220 204,680 A81,460
101 @121t 17,306 17,251 55
04 JIAHIEZHE LS4 17,306 17,251 55
OAUHSE 2 ZUS|RFLRY
34,6102 * 621 * 753 15,575
OMUMSE 2 FEN A8
34,6102 * 521 * 103l 1,731
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02 IT2YH| 44,074 46,829 A2,755
OlBZRSLHA] 32,413
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MBI+ 22 (MUHSD, 2052
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OAUHSE 20082 ALsY FUNH H
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CIEELT 4,021
OMRA HXA oI
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00D BUAI BB
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SINEETIENE 7,640
OCAUHSE o 203222 KXYl
4,500,000% * 14! 4,500
OHMSZ, a2 BSIY 244
270,0002 * 24 * 13l 540
OAUMSE Y& KX 22|
50,0002 * 404 2,000
OCCTV HHIRX 24 (3t02tel 55)
200,008 * 144 200
OAgAYl B4l 200,008 * 2HA * 18] 400
206 2| 3,340 4,100 ATE0
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S

D\_I =
2 SN 54
Sl MEAE 29 (25 &2
_ _ HE T
SN EB -GS - MBAY - BES 01l &k o e HRE2
04 - St R (LHAII)
1,260 * 85.95% + 122 1,300
206 2| 2,000 5,000 3,000
01 HEb| 2,000 5,000 3,000
OYHAIT AFBY DY (AHBES] 20F)
2,000,0008 * 141 2,000
307 2201 H 24,000 24,000 0
05 BI2tSIES 24,000 24,000 0
OoIZAHAIIF Ity
2,000,008 * 128 24,000
AL 237 7,500 5,000 2,500
206 T2l 7,500 5,000 2,500
01 e 7,500 5,000 2,500
0% - & HolESH
15,0002 * 15 * 2002 4,500
OHILIAR 15,0008 * 50X 4042 3,000
AEHMSAIE 2t 7,569 0 7,569
101 o121l 2,769 0 2,769
04 JIAH2EZXSS4 2,769 0 2,769
OMEH MSALZE ZEHMH ARY
34,6102 * 82 * 103l 2,769
201 LByl 4,500 0 4,500
02 ZZ2Y| 4,500 0 4,500
OUESHSAE (BSSSY 0IRE HUAS
)X 24t 4,500,000% * 14! 4,500
202 04t 300 0 300
01 2Uioibl 300 0 300
OUEANE HSALRE HRFF0/Y|
20,0002 * 121 * 152 300
HMSAL 25 6,396,392 4,507,058 1,889,334
=l 350,000
| 1,000,000
2 5,046,392
2EY T4 L FHHSAL &3 1,197,000 1,156,000 41,000
= 350,000
= 847,000
401 AlHIL = O] 1,197,000 1,156,000 41,000
=l 350,000
= 847,000
01 Al&H] 1,197,000 1,146,550 50,450
OBEHXY L FHIUSAL &1
1,197,000,0002! * 14! 1,197,000
= 350,000
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I S |4
el MSAY =25 (e &
- _ _ ME
SN -3H - S2A(2AH) - NRAY - BE= Off & 2K Ol AF o8 Blusz
| = 847,000
MEAL 83 L Fd 207,200 108,000 99,200
401 AlZHIL 2 HHI 207,200 108,000 99,200
01 Al&H 207,200 108,000 99,200
OSUHMSAE RXS4 360,0008 * 1002 3,600
OMSZT@ BAAL HH| 360,0008 * 100HA 3.600
OMETSAIE &3 200,000,0002 * 14! 200,000
S-8 HESE £X ¥ FHi 725,494 542,950 182,544
401 AlEHIL 2 725,494 542,950 182,544
01 Al&H 710,940 529,900 181,040
OS-% HOIEEE &% ¥ Fi
10,940,000& * 14! 710,940
02 22/l 10,075 9,450 625
O8-¢ HoE=E &X ¢ Ful 2l
650,000,000 * 1.55% 10,075
03 Al&S 0| 4,479 3,600 879
O -8 HoE=E &X % FHul 2
710,940,000 * 0.63% 4,479
HOIESHE ANd2= 4,597 10,108 ~5,511
401 AlEHIL 2N 4,597 10,108 A5,511
01 Al&H 4,500 10,000 ~5,500
OHOIEESH ANERXES 4,500,0008 * 14 4,500
03 Al& =0t 97 108 AT
OHOIEEH NERBS 2|
8,981,481& * 1.08% 97
UM SHE A28 2,864,337 50,000 2,814,337
pJ 1,000,000
2 1,864,337
401 AIEHIZ 2 THYI 2,864,337 0 2,864,337
pJ 1,000,000
2 1,864,337
01 Al&H 2,780,091 0 2,780,091
O2LMSHEAE
6.104,723,000 * 141 * 45.54% 2,780,091
pJ 1,000,000
2 1,780,091
02 el 69,594 0 69,59
OIVASHE A8 22l
6.104,723,0008! * 1.140% 69,59
03 Al 0| 14,652 0 14,652
OIUMSHEHE ALY
6.104,723,0008! * 0.240% 14,652
SHESEMSALAE 1,897,764 0 1,897,764
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M HSMY |4
R MSAIE &5 (el &)
_ _ PG ==
SN BHG(SH) - NRAY - BES ol Ol & o8 Hluse
401 AIEHIZ 208 1,397,764 0 1,397,764
01 Al&H| 1,390,034 0 1,390,034
OsHE=EE HSAd A
1,390,034,000& * 14 1,390,034
02 Zeldl 6,557 0 6,557
OsHESE MSA4E d8 &2l
6,557,000& * 14 6,557
03 A2 204Hl 1,173 0 1,173
OsHHE=SE MsAE 28 20l
1,173,000& * 14 1,173
dEHE 54 917,966 693,373 224,593
p) 68,560
s 849,406
ANzdEHs 2203 16,981 15,436 1,545
307 21201 & 16,981 15,436 1,545
02 BIAHANE X 16,981 15,436 1,545
OO0l Msua 4,840,000& * 14! 4,840
OFAE NEwa23 4,768,000& 14! 4,768
Onddgd=s 2 2,605,000& * 14 2,605
OF+H=Us 29 4,768,00021 * 14! 4,768
18 il=s 243t X2 238,700 87,100 151,600
301 et as 157,100 28,100 129,000
08 28 =&0H 12,100 12,100 0
OAZ=0AE 2BI=H 0|
12,100,000& = 14| 12,100
10 SAAHIEAS 12,000 12,000 0
OAZ MsdA ZFA24 1,000,0008 128 12,000
izt - 2SRSE423 133,000 4,000 129,000
ONIAMEEIN TUHE SSHAHIEY
2,000,000 * 23 4,000
OSHE 2+MSES S5 Fge4 2
129,000,000 * 14! 129,000
307 2120l & 71,600 49,000 22,600
04 BIZHHAIE X 71,600 49,000 22,600
OdeEx= gdst X 30,000,000& * 14 30,000
OXM=HH™ 2II&H 1,500,000& * 22&5= 33,000
OXNZH A2 MEuFE &=
2,500,000 * 23 5,000
OXHZS A2 MEsUFI =3
1,800,000 * 23 3,600
308 NXISHHMSOIE 10,000 10,000 0
06 WEII20UStExS 10,000 10,000 0




M =olME 2 0t
M fsae |4
ool METS |4 EEE-E)
CEI OIS - MRAIY - HAS Abod e HlDE2
Ol = - =58t L MEHSsELs
sSHEx3 10,000,000& * 14 10,000
M=tz X 282,000 174,047 107,953
gIztold 282,000 144,047 137,953
OIZ2ISHALE X 282,000 144,047 137,953
OHM22g SIMEMFH &It
50,000,000& * 13l 50,000
OHM28| St =3 AU XA NS
100,000,000& = 13l 100,000
OHOIE=Z U3l &It 1,000,000& = 53| 5,000
OdINEE dLU3 6,000,000& = 13l 6,000
O=2%0sa &It 3,000,000& = 13 3,000
Oz0l MeEtHsgs&Il e
75,000,000& = 13 75,000
OHMb3HetdEH A ME X = 0H 3 &It
10,000,000& * 14l 10,000
OHM183 M ZOHQl MSCHE &It
15,000,000& = 12l 15,000
Oodetde #3449 2 a &It
4,000,000 = 14! 4,000
otts g3 2,000,000& * 23| 4,000
O+ 28Uzl 5,000,000& * 23] 10,000
XA X 191,000 300,000 A 109,000
AutB A3 35,000 164,000 2 129,000
JIEtE &= 35,000 35,000 0
OEM=te &It SSOIMEIB (5504
UMAES) 35,000,000 = 14 35,000
QI2t01 ™ 156,000 136,000 20,000
QIZ2HSHALE X 156,000 136,000 20,000
OZoXME &It 2= o 2= 54|
60,000,000 » 14 60,000
OUisl&#It ¥ =& & 60,000,000& = 14 60,000
OZoHE £HMS SHSHDS X2
36,000,000 * 14 36,000
2 S0 29 14,365 0 14,365
gIztold 14,365 0 14,365
QIR AE X 14,365 0 14,365
OMEMsnaRY 13,365,000& * 14l 13,365
OZelMZwa 2HAL 24
100,000& = 10 1,000
EPNEINS 129,056 0 129,056
J| 64,528
= 64,528




A =M TR0
By SMY B4
ol MBS S4 CLELE
S A .S (FH) - NBAY - BHAS HEE Hn=2
- co=m s IR . TNrsE == O] AFOH Wsa
307 QI2t01A 129,056 129,056
| 64,528
= 64,528
02 SI2tZASE X 129,056 129,056
OMEXE N T BIEXIAFS
95,920,000& * 14 95,920
| 47,960
= 47,960
O™y MEH=sXN A XA
33,136,000& * 14 33,136
| 16,568
= 16,568
NERE2Z 37,800 37,800
301 ptE A= 37,800 37,800
11 0=t - 222432 37,800 37,800
OoHE & 25 ZXH 300,000& * 12& 3,600
Ol =l 6,000,000& * 14 6,000
Olizl&d &It dl 15,000,000& = 14 15,000
OR+=E8 QHEE 12,000,000& = 14 12,000
OAXZ= SHEEH 600,000& * 29! 1,200
AU AL 8,064 8,064
J| 4,032
[ 4,032
307 QI2t01A 8,064 8,064
| 4,032
= 4,032
02 QB AEXR 8,064 8,064
OAZXHIR KA 8,064,000& » 14] 8,064
| 4,032
= 4,032
HY2HGU| (O MEX 2D 135,083 94
= 20,379
= 3,566
= 111,138
ol 29| 3,780 AN420
23 3| 3,780 A420
203 PR F=&| 3,780 AN420
04 ENBILRF=EH| 3,780 A420
OZFQMEX AT = SEELE
3,780,000& * 14 3,780
olERIH|(d=220II22Y 25,473 1,723
= 20,379
= 3,566
= 1,528




FH: F=QIMETA 0
Y HH LAY (FUMEX2AD)
thel: AHEAREH(AZS0HII=S2E) AR
EHA - HE (G H) - NEAY - HAE2 Al OH &EIE =}
- (S N M) : TN S T S = &= Of] AFoH S ©
SIEsd==2X 2eld 25,473 23,750 1,723
= 20,379
= 3,566
= 1,528
101 Q1 Z4H| 25,473 23,750 1,723
= 20,379
& 3,566
i 1,528
03 RIHAZZXNE = 25,473 23,750 1,723
Ozt 2el g3l
1,540,000& * 121 = 123 18,480
= 14,784
< 2,587
= 1,109
O =LA AIIEEZ
454,416 * 128 5,453
= 4,363
& 763
= 327
Ol zg0¢&elA XS HE3
1,540,000 * 1/12 » 12& 1,540
= 1,232
& 216
i 92
| =&l 105,830 107,039 A 1,209
FUMETASE 3l 26,009 20,510 5,499
201 LEH2HH| 11,529 12,810 A 1,281
01 AtER22/Hl 11,529 12,810 A1,281
Olget=gHl] 9,261
ORAN2E SHHA 9,261,000& * 14 9,261
Oli=t=1:1} 2,268
ORAN2E SHAA 2,268,000& = 14 2,268
202 O4Hl 6,480 7,200 AT720
01 =LA b 6,480 7,200 AT20
FN2E SHHLI 6,480,000& = 14l 6,480
405 KH&HFESHI 8,000 500 7,500
01 T =SS HSHI 8,000 500 7,500
OFUMEXNAD YRFE =D 2Y
8,000,000& = 14 8,000
FgHEY JI1=2 3l 8,532 9,480 A 948
201 LetEI| 5,130 5,700 A570
01 AtER22/Hl 5,130 5,700 A570
Oolger=g4l] 2,700
ORA2E SHHA 2,700,000 * 14 2,700




SAM: FoMEX R
I HMSARH(FUMBXAD)
&2 J1E2&d| (Gt &)
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
Ol2&4l] 2,430
ORANE2ZE SHH & 2,430,000& * 14 2,430
202 (4l 3,402 3,780 N378
01 2| 3,402 3,780 N 378
OFEN2YE SHH A 3,402,000& = 14 3,402
MHIAAAHE S J|=2F b 10,263 11,4083 A 1,140
201 Et24d| 5,727 6,363 A 636
01 AP Zeltl 5,727 6,363 A 636
Olger2g4l] 3,175
OFRANESY S A 3,175,000& * 14 3,175
Ol2&4l] 2,552
ORNESY SHAHN 2,552,000& * 14! 2,552
202 (4 i 4,536 5,040 A504
01 2| 4,536 5,040 A504
OFRNSYE SHH A 4,536,000 * 14! 4,536
SEXZAIEY JI234| 15,728 17,475 N1,747
201 Et24d| 7,884 8,760 AB76
01 At 22l 7,884 8,760 NB76
Olger2g4l] 3,024
ORANE2ZE SHH & 3,024,000& * 14 3,024
ol2z] 4,860
ORNESY AN 4,860,000 * 14 4,860
202 (4 i 7,844 8,715 A871
01 2| 7,844 8,715 A871
ORASY SN 4 7,844,0002 * 14! 7,844
M=K I3 14,216 15,796 A 1,580
201 Et2ad| 5,216 5,796 A580
01 AtR22telyl 5,216 5,796 A 580
OlgergHl] 2,381
ORANE2ZE SHH & 2,381,000& * 14! 2,381
Ol=2&hl] 2,835
ORANESH SHH & 2,835,000& * 14 2,835
202 (4 9,000 10,000 1,000
01 2| 9,000 10,000 A 1,000
EN2Y SHHAN 6,480,000 * 14 6,480
Oz 22 4 (bl
20,000& = 301 x 42! 2,520
HsAlE22 J|223 ] 31,082 32,375 A 1,293
201 dEt24d| 25,412 26,075 A 663




S F0IME X R
By HHSHAL (FUMBXADY)
ehel: D= Ryl CEERE
_ _ _ Muo
SH-EH . S2(30) - MRAY - BES Ofl & 04 Sl e HRE2
01 AtSR22/Hl 25,412 26,075 A 663
Olget=gHl] 3,969
ORASY SUAHL 3,969,008 * 14 3,969
Oolegx¢4] 19,080
OZA=H 40,0002 » 112 4,480
O=&xg 40,0008 * 14,600
ol2zHl] 2,363
ORAN2E SHAH A 2,363,000& 2,363
202 Oddl 5,670 6,300 A 630
01 =0Tl 5,670 6,300 2630
ORM2Z SUH L 5,670,000& 5,670
E2S(FoMEI A0 666,107 533,709 132,398
SHN X & 650,797 518,399 132,398
22032 SEIAHEES (L 650,797 518,399 132,398
701 JIEtRI AN &= 650,797 518,399 132,398
01 JIELENTSS 650,797 518,399 132,398
SEEEPIEEEEPIRE
650,797,000& & 650,797
HFXE(UE2S0HIS32Z) 15,310 15,310 0
Azg0II=sEENE 15,310 15,310 0
802 E+et=zJIEt 15,310 15,310 0
01 = nEXSpe=s 8,607 8,607 0
OBSOAY RNEEXY vra3
8,607,000& Al 8,607
02 Al - SHIEXZ=EtE = 1,722 1,722 0
OABTOAIY THEETM praa
1,722,000& Al 1,722
03 AE=S 4,981 4,981 0
OABSOAY T4 8123
4,981,000& = 14! 4,981




